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1. The important of the Test & Calibration equipment are …………..

a) What you cannot measure you cannot control 

b) To prevent medical device incidents resulting in patient injury and death 

c) Downtime costs money
d)  Regulations, accreditation requirements and standards

e) All of the above
2. As components age and equipment undergoes changes in temperature or humidity or sustains mechanical stress, performance gradually degrades. This is called……….. 
a) drift
b) deviation
c) calibration
d) None of the above

3. One of the below is not one of the requirements of Test & Calibration service ……………..
a) Deviation or discrepancies should be investigated 

b) Inspection monitoring
c) Control of inspection
d)  Written Program
4. One of the below are not  standards for medical device 

a) AAMI
b) IEC
c) UL
d)  NFPA 

e) Fluke
5. While drift cannot be eliminated, it can be detected and either corrected or compensated for through the process of ……………..
a) repair
b) maintenance
c) PPM
d) Calibration
6. One of the below is not Key parameters for testing pulse oximeter 

a) ECG, performance and arrhythmia simulation
b) O2 Saturation
c) Heart rate
a) Pulse amplitude
b) Electrical safety tests
c) ambient light condition 
7. When your body with contact with 0.1 A you will have the risk of………….
a) tingling

b) Ventricle fibrillation
c) muscle spasms

d) pain

e) myocardial contraction

f) None of the above

8. The 4-terminal “Kelvin” technique gives more accurate readings because …

a) It is used when measuring low resistance value.
b) The 2-terminal method is less accurate 
c) It negates the effects of test lead resistance
d) All of the above
9. ……………..is process of comparing an unknown against a reference standard within defined limits, accuracies and Uncertainties, whereas ………………is the process of comparing an unknown against a reference standard at usually one data point.
a) Calibration, Verification
b) Verification, Calibration
c) Verification, Validation 

d) None of the above

10. One of the below is not belong to IEC.
a) IEC50000
b) IEC60000
c) None of them

d) IEC79999 
11. The IEC 82045-1 is cooperation between IEC and …………. 
a) IEEE
b) ISO 
c) ANSI
d) VDM
e) None of the above

12. The major difference between class I & II is that class I have ……………..

a) A fuse
b) Double insulation
c) ACCESSIBLE PARTS 

d) a protective earth. 
e) None of the above

13. We can classify the medical devices in to three kinds based on………..  
a) Standards classification
b) Manufactures classification

c) Power cord types
d) Method of protection against electric shock  
e) None of the above

14. Class II differs from class I on the following…….

a) Has double insulation 
b) Has reinforced insulation
c) Has protective earth
d) A and b
e) None of the above

15. The  IEC 60601-1-xx is ……………….shorter focal spot we select, the sharper image we get but, the disadvantages are/is 

a) A series of particular standards for particular types of MEDICAL

b) A series of collateral standards for MEDICAL ELECTRICAL EQUIPMENT
c) A series of performance standards for particular types of MEDICAL ELECTRICAL EQUIPMENT.

d) None of the above

16. Medical electrical equipment having no mains connection is simply referred to as .................
a) Class III
b) Internally powered 
c) both a and b
d) None of the above

17. The ………..value of an alternating voltage or current is the same as the level of direct voltage or current that would be needed to produce the same effect in an equal load.

a)  RMS 

b) Crest factor
c) Peak to peak value
d) None of the above

e) Peak 
18. The …………. is equal to the peak amplitude of a waveform divided by the ……….. value. And is used in Electrical engineering for describing the quality of an AC power waveform

a) VP/VPP

b) Crest factor/RMS

c)  RMS /Crest factor

d) Vpp//RMS 
e) All of the above

f) None of the above

19. We mean by Insulation Resistance is the    
a) Ground Wire Resistance

b) Insulation Resistance between Hot and Neutral to Ground

c) Dielectric Strength 
d) Both b and c
e) None of the above

20. We can define the Applied Part as………
a) A part of the equipment which needs to be touched by the patient 

b) A part of the equipment which in normal use necessarily comes into physical contact with 
the patient Induction motor/ magnet

c) Part of equipment which can be touched without the use of a tool.
d) A and b
21. Which  of the below is not functional current 
a) Earth Leakage Current 

b) Enclosure Leakage Current 

c) Patient Leakage Current

d) Patient auxiliary current 

e) All of the above
22. Which of the below is not  belong to the Pulse Oximetry instrumentation
a) Shine light through the finger or ear lobe. 

b) Control the pulsing of that light. 

c) Receive the transmitted light. 

d) Retain the received signal. 

e) Control the amplitude of the transmitted light. 

f) None of the above

23. The EARTH LEAKAGE CURRENT is the …………..

a) Current that flows through a patient connected to an applied part or parts.

b)  Current flowing from the MAINS PART through or across the insulation into the PROTECTIVE EARTH CONDUCTOR

c)  CURRENT flowing from the ENCLOSURE to earth or to another part of the ENCLOSURE through a conductor other than the protective earth conductor. 

d) current that normally flows between parts of the applied part through the patient, which is not intended to produce a physiological effect 

e) None of the above

24. Pulse oximetry is a noninvasive monitoring technique used to estimate the measurement of ………… of hemoglobin.

a) B and c
b) arterial oxygen saturation 

c) Sao2
d) Spo2

e) None of them
25. We cannot measure the following in class II equipment.

a) The Protective Earth Continuity
b) The enclosure leakage current
c) The earth leakage current
d) The patient leakage current
e) A and c
26. The Insulation Tests in Class I equipment should be …………….. 
a) 50MΩ 

b) Not large than 50MΩ

c) None of them
d) 0.2Ω 
e) Not less than 50MΩ
27. Why we use the Pulsed LEDs in pulse oximetery ?
a) Allows a single photo−detector to be used for both LEDs.
b)  A and d
c) Decrease time 

d) so that peak peak power is increased 

e) None of the above
28. The pulse oximeter shows ………….. 

a)   Spo2
b)   PI
c)  Signal strength
d)  Pulse rate
e)  All of the above
29. Why we use the Automatic Gain Control (AGC) circuit in the pulse oximeter ?
a. It allows the d.c. level of both the NIR and the red signals to be kept at the same level 

b. It keeps the a.c. signal (which varies between 0.1% and 2% of the total signal) within a pre−defined range. 
c. It allows the frequency response of the photodiode to be ’corrected’. 
d. To control the amplitude of the received signal
e. all of the above

f. none of them

30. Why we use the retaining circuit in the pulse oximeter is to …………..
a. Use one photodiode
b. Know when it is giving information about absorption of the red and the NIR wavelengths respectively. 

c. Control the amplitude of the transmitted light. 
d. A and b
e. None of the above
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Note:


Solve as possible as you can. 


Spend just 2 min as maximum in each question.


Q1 is solved for you. Solve the rest questions like Q1.


For every question just select one choice. Question degree will be canceled if you select 2 choices.











